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43. Compubank, an online banking service, offered a money

n
market account with an APY of 1.551%. 6 18 ‘. ( L& ¢ \ -\ .l
(A) If interest is compounded monthly, what is the equiva- no .
lent annual nominal rate? ¢

(B) If you wish to have $10,000 in this account after 4 years,
what equal deposit should you make each month?

AN [ effectiie. We

2. COMPOUND INTEREST

e P = principal e A = account balance/compound

e r = annual interest rate (decimal) amount

e n = number of compound periods e rp = effective rate/annual per-
per year centage yield (APY)

e ¢ = time (years)
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42. A recreational vehicle costs $80,000. You pay 10% down and
amortize the rest with equal monthly payments over a 7-year
period. If you pay 9.25% compounded monthly, what is your
monthly payment? How much interest will you pay?
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Tuest = . - P - 6%(\\6?.5'31\ - 12,000
= 76,035 .60

44. Construct the amortization schedule for a $10,000 debt that is
to be amortized in six equal quarterly payments at 2.6% inter-
est per quarter on the unpaid balance.
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